4 RERBH (FM5F 3 AXREAR)
() 2EHICHHZRERER

R4 SH G SH 4 R BEE (%
Y | wEN ([ HER | 4% [ wEX | EEK | 4% | wER | HEN | 4% | wEY | HEX
2 & MW 521 9 566 500 12 542 21 -3 24 4.2 -25.0 4.4
_|' = B 89 94 71 76 18 18] 25.4 23. 1
§ D 180 2 193 173 5 182 7 -3 11 4.0 -60.0 6.0
= Bt 269 2 287 244 5 258 25 -3 29 10.2]  -60.0 11.2
TR E (%) 51.6] 22.2] 50.7| 48.8] 41.7] 41.6
O REABBMIAMELIER, REFBRCEERTEML A, EEREHDS L=,
(2) BFFEAIFEERR
5 50
(N) ) Y 10 )
) 30
2 20
1 10
0 Hﬁ/ 0
0~2 2~4 4~6 8~10 10~12 12~14 14~16 16~18 18~20
|izazaa:Pogtn g 0 0 0 1 0 0 0 0 0 0 1 0
—O— {14k 4 3 2 25 44 28 32 36 44 35 12 4
O ABEHIE. Fu1 (8E~108) &LF% (16~188) MBS HELTIS,
O ZBETHEMIE, ¥ (6~ 8H) | (208F~228) DRMEHICHRELTINS,
(3) EHBEHRAFHLERNR
N {5 & SHAE ERE ERE (%
% | EEH (SES | 4% (wEH | GEHR| 4% | wEk | EEN | 4% ([ FEH | EEX
¥ E R E® 269 2 287 244 5 258 25 - 29 10.2]  -60.0 11.2
» - E@EH 1 1 1 1
Q B & o 31 31 31 3 28 -3 3 -100. 0 10.7
=Tt 0O 4 4 1 1 3 3 300.0 300.0
B 36 36 33 3 30 3 -3 6 9.1 -100.0 20.0
BH £ v F 42 42 48 50 -6 -8 | -12.5 -16.0
;575 A 23 24 16 16 7 8 43.8 50.0
#E__ O 4 4 1 1 3 3
= &t 69 70 65 67 4 3 6.2 4.5
E @ &
B ] 10 10 9 10 1 11.1
%Hﬂ £ (v FE 105 1 114 90 2 97 15 -1 17 16.7]  -50.0 11.5
MAE_ B 29 34 30 36 -1 -2 -3.3 -5.6
FIE B B 14 14 12 13 2 1 16.7 7.7
F D i 5 9 4 4 1 5 25.0 125.0
£t 163 1 181 145 2 160 18 - 21 12.4] -50.0 13.1
B Of B o 1 1 1 1 -1
O BHEFRIOREHHEI, EMHEEOHESVERRLZ,
4) LYEFAMNRERR _
R4 SH G SH 4 R BEE (%
sEEn| REN [ HEY (vsEy| wEN [ BE¥ |vsEy| RER [ HEN (“FE5 | RER | HEX
X E A E K 537 2 287 487 5 258 50 -3 29 10.3]  -60.0 11.2
% [ 1 1 -1 -1 ] -100.0 -100.0
Flbd % & 9 9 6 6 3 3 50.0 50.0
#ibg % & 6 5 8 8 -2 -3 -25.0 -31.5
N £t 15 14 15 15 -1 6.7
= B & 17 17 12 13 5 4 11.7 30.8
ES 3 & 83 67 63 43 20 24 31.7 55.8
[53BF 540" - 58 39 36 15 22 24 61.1 160.0
-3 5 & 143 1 72 114 5 44 29 -4 28 25.4] -80.0 63.6
[3BF 540" - 108 33 86 17 22 16 25.6 94.1
% [2) i 279 1 117 283 143 -4 1 -26 -1.4 -18.2
I ONEERL. F14EELE2HEEOAT
HEESEOHSE (75.5%) FAEMEETOEHRTH S,
(5) RER (1) REHFEHT—X FESL
- J—X k 16 REARESHET 96 ¥ (RTEEEE + 204)
s J—X b 2 —BEFEL A4 (BIEE — 134)
- J—X k 3L RETHER 23 ¥ (RiiFEEE — 24F)
s J—X b 4460 BT 20 ¥ (RIEEHE + 84F)
- J—X k 56 [ESEH 194 (IR + 1#4)



